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< 622,776
Al 762,165
ZSstul CCTV SESH =29 622,776 619,080 3,69%6
= 622,776
101 ©1AH| 622,776 619,080 3,69%6
< 622,776
03 SRH(RINAHA) 222+ 622,776 619,080 3,69%6
OCCTVSEZMHH =SS LTV 2HR 622,776
oJiEst=) 476,067
-BE Xt 2,833,730 *x14F 128 476,067
[ 476,067
Oo=¢ 67,199
-grEeg 100,000& x 1 =123 1,200
< 1,200




SM: QHEE Y
Hm: SN2 AG| (R EM D)
s lIEE2ghl EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
EE 12,960
- B A 40,0003 11 ~122 5,280
= 5,280
- SMAHA 70,0002 x4« 123 3,360
= 3,360
- AU AHA 110,000 x2& * 122 2,640
& 2,640
- JIEtELIS 20,0002 *7& x 122 1,680
< 1,680
—HItEa = 24,528
eE Xt 87,6003 x20€ « 14 24,528
< 24,528
-SE S0l 28,511
6E Xt 1,018,245@ x14&»23] 28,511
< 28,511
OJI2=g3 79,510
-=0H3 R 2,638,100 128 31,658
[ 31,658
222 2L 2,127 1223~ 128 25,526
== 25,526
IR 200,000& * 128 2,400
S 2,400
-IE2ERES 899,930 * 12 10,800
= 10,800
M EERE=2 760,450 x 122 9,126
= 9,126
eIg =3 762,165 763,821 A1,65%
101 e124d| 762,165 763,821 A1,65%
02 JIEtX == 15,467 15,209 258
OAteI22+E 15,467
O AIIH
11,3192 2 x30A[ 2+ 123 8,150
OARIEEHAIIH (2t 2)
10, 1622 x2S *30Al 2tx 123 7,317
03 SRA(FIH )22 U2+ 746,698 748,612 A1,914
OCTVSEZHMMHE CCTVZ M (AlHI) 746,698
OJlEs(ta) 680,096
=P 2,833,730 x20 * 128 680,096
Oo=¢ 66,602
-EsE 6,600
BH <> Kt 40,0002 x8& * 122 3,840
U PUE] 30,0002 x2& * 12 720
- SN 70,0002 x1& 122 840




SM: QHEE Y
Hm: SN2 AG| (R EM D)
chol: ol (19 @)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
JIEHEHIS 20,0002 x5~ 123 1,200
—HIIEa = 19,272
=by 87,6002 x20F « 11 19,272
-GESOH| 40,730
=r 1,018,245 x20H 22| 40,730
Jl=3l 75,552 100,988 N25,436
Jl=2&Hl 75,552 100,988 N25,436
201 L= 42,192 47,648 Ab,45%
01 AtR22telbl 42,192 47,648 NDb,45%6
OJ =g R=+=FHI(O1E3H])
450,000 *40H 18,000
o=gdl(01=34l)
8,000&*x36H 7L 12& 24,192
202 04| 25,920 43,200 A17,280
01 =LHA I 25,920 43,200 17,280
O=UoiblI(01=3H])
20,0003 +36ZF 32«12 25,920
203 BR8] 7,440 7,440
04 PAESEYRFAH 7,440 7,440
oJlE 7,440
O30¢e! olat 400,000& + 122 4,800
O30 =1t 5,000 44 =122 2,640
HREs (&) 7,270,023 6,887,314 382,709
LHRHHXIZ 7,270,023 6,887,314 382,709
LIS HHXIE 7,270,023 6,887,314 382,709
RISHES 7,270,023 6,887,314 382,709
RIS 7,270,023 6,887,314 382,709
oMt2ellzs dE= 7,270,023,000& 7,270,023
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of
i’
oF
uJ

-

KIO

Hlw

3,275
3,275
A\54,364
A\54,964
A2,101

A1,062,657

N52,863

MEE
Ofl &k2h

600

32,860
32,860
1,132,537
124,244
124,244
11,381

112,863

Ofl &F2H

54
207
497
168
341
600

2,484

600
36,135
36,135
36,135
69,880
69,880
69,280

9,280
5,400
2,080

400
1,200

1,800
60,000
58,800

7,200

12,000

3,600
36,000

- SRA(E) - HIRAY

- o

- HyS

£A

330, 0002 *2IH*90%
230,000 174 +90%

23,0003 * 102 A+ 12 +90%
92,0003 22 A x32+00%
31,0003 22 A x32+00%
63, 0003 »28 A+3& #90%

Il &l

O=ZALZXI(M)

30
O
[0
M0

3

5

3

10,000, 0002 «6%
300,000 #4

120,000+ 12 *4.
100,000 * 1 *4

20,0003 x25F * 122 *90%
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|
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50,000 »3CH =122
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n
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KEAHEIA A
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S

300,000 122
3,000,000& x 128

| = XI=Z==Hl

I

600
600

1,200
600
600

100,000 «12&

]
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405 Xt




SA: QIR
HE: ADIZY SIRBHAHIA

s EeRIRSHE 2E (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OdEA SAHA 2t&F i 600
(OFSPNEE FEIDN 200,000 1CH 200
O& Xt 400,000 1K 400
SEH JIE=S 22 362,954 428,830 AT5,876
JE=E 2l 362,954 428,830 AT5,876
201 =3 347,354 421,730 AT4,376
01 AtR2t2lt] 19,250 31,730 N12,480
od=23Ma2s 24 18,550
Os4=g 100,000 x7 & #2535 17,500
OetAd A& 30,0002 7 x5 1,050
OFEESH ARU= 700
OZA=E (2= 1A12})
230,000 x1H =23 460
OZA=E (=1 1A12F)
120,0003 18 %23] 240
02 S3=gHl 328,104 390,000 61,896
o= &ER= 328,104
oget 400 35,0000 = 12 x90% 151,200
OsII 2,500& %6, 00001 * 12 »90% 162,000
OAx 5,000 %1507+ 122 »90% 8,100
0S| #s +42
2, 1003 *3000H 12 90% 6,804
308 AFAIEHMSOIE 5,600 5,600
13 S [2SOHe & EAS A 5,600 5,600
OREIZOIAIAE [ ==
5,600,000& 12 5,600
HM2AZHI(2RA) 1,080,283 1,071,964 8,319
el 2| 1,014,547 987,717 26,830
el E2d| 1,014,547 987,717 26,830
101 21AH| 1,012,147 985,317 26,830
03 SR (RIH )22 U2+ 1,012,147 985,317 26,830
oJEs(t=) 699,514
O2& Xt 2,043,340« 18~ 12 24,521
O44xt 2,228,6403x1x128 26,744
Ordxt 2,345,350 x22H 123 619,173
O9= Xt 2,422,920« 18~ 128 29,076
oxg 188,005
OJExE 13,560
BN} 40,0002 x16H* 122 7,680
LU PE 30,0008 *7& x 12 2,520
-=M At 70,0002 *x28 122 1,680
-JIEH EHIE 20,0007 * 122 1,680
OdE (=) 228 109,49




S QIR
S HY2AAH(2RD)
chol: ol (19 @)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
= 49,771
24Xt 14,0803 *10AI 2Hx1H =123 1,690
VSN 15,910 x10A| 2t +1Z + 12& 1,910
7EXt 16,6803 *10A| 2228« 12& 44,036
9 XH(BHE
17,7903« 10A1 2Hx 18 =123 2,135
-2z 59,725
249Xt 14,080 *12A 2t 15+ 12& 2,028
VISP 15,9103 *12A1 2Hx 1B+ 123 2,292
7TEXt 16,680 *12A| 2H22H 123 52,843
AR (BHE
17, 703« 12A1 218+ 123 2,562
Ot 4 100,000 x 1= * 123 1,200
OS82 50,0003 *258 123 15,000
O&eise 50,0003 *25ZF *12& 15,000
O2&+g 33,749
-4 Xt 111,430 x1F + 122 1,338
~7AXt 117, 2602 x22F « 128 30,957
-9 Xt 121, 140&x1E+ 128 1,454
O &I 24,334
O2EA Xt 75,1208 x 1B x11L+13] 827
O4Axt 84,8303 1B *112dx13] 934
O74E Xt 88,603 *22H x 11 %13 21,529
O9ERH(BHE) A,8302*1H* 11 *13] 1,044
OFHZ Al 140,000 25+ 12& 42,000
OZE St 58,294
O24 Xt 2,043, 3403 *50%*1H +23| 2,044
O4Axt 2,228, 6403 *500%*1H »23| 2,229
O7AXt 2,345,350 ¥50%x22 H 23| 51,598
O9E Xt 2,422, 9203 500+ 1H +23| 2,423
201 B2 AL 2,400 2,400
01 A=R2teld| 2,400 2,400
OFRH(RIIHL) 22X =2l
8,000& x5« 123 2,400
234l 65,736 84,247 A18,511
J|123&H| 65,736 84,247 A18,511
201 LBr2| 49,536 55,347 Ab,811
01 AtR2elt] 49,536 55,347 Ab,811
oJ|lzgRsE s (JIEZ])
450,000 * 15 *90% 6,075
o=Hl(JIEZl)
8,000& x15F 7L+ 12& 10,080
OFAI HAEAH| 1,817,000& * 12& 21,804




SA 2R
A HZYRAZHI(2AM)
=l Jl=3H| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OZZXI(eIa ) 11,0002 x65+ 12 660
OFAL2CIES 4,917
OEa&EA 40,0002 x72 Ax 123 %90% 3,024
OFEAZES(MH)
3,000& *157H* 122 x00% 486
OsgM S5 2, 1703 =600+ 122 «90% 1,407
ol Xtz 30,000 +50H~ 12 1,800
OF=J| gitz 40,0002 #5CH* 122 2,400
O3JIEEI| Xz
50,000 x3CH* 122 1,800
202 04l 10,800 18,000 AT7,200
01 2LHoIH 10,800 18,000 7,200
O=UobI(O1=2HI)
20,0002 x15ZH+32 * 122 10,800
203 HR=AH] 5,400 5,400
MU FA2SHIFII 5,400 5,400
OJI=H 5,400
0302 Olat 400,000 <123 4,800
O30 =1H(10Y) 5,000& 108122 600




Al A

0243 20ilat LEF )| ~ FESA
SA: 3D
M ZH - NZO A E =Y
Chol: ST AT U HEE 4 (Shol: % 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
1 5,180,919 5,274,956 A124,037
= 24,000
Al 5,126,919
ST A9 3 Y =E 4,899,748 4,939,268 A39,520
[ 24,000
Al 4,875,748
St olatye & Hatet Bat 117,873 108,261 9,612
Zetst XNE A 8,710 17,640 A8,930
201 Ler23 | 8,710 17,640 A8,930
01 At2t2ltl 4,840 11,100 26,260
O3HaR & W= X} w2t
24,2003 x200% 4,840
02 S3=4gl 3,870 6,540 A2,670
O3AHAANSFE HEE2SEEE
18,0003 %215 3,870
N HIE 3H & 109, 163 90,621 18,542
101 e124d| 13,693 13,351 342
M ORNZZ2NSE S 13,693 13,351 342
OZd4, 2, =52 € X 82 ARY 13,693
@)uFal:] 78,8803 x1H 26U +6E 12,306
O4tHES 1,387
-=2%s 12,305,280 *4. 5% 554
A2 12,305,280 *3.545% 437
-AI|RYEE 436,220 %12.81% 56
-1ELE 12,305,2802 *1.75% 216
—CHEE 12,305,2802 *1.00% 124
201 et 3| 9,120 74,120 20,000
01 AtR2t2|H] 94,120 74,120 20,000
OEXIELAN SEES 21N BY
5,500,000& 12 5,500
OM2NE &d K&, dEF2
22,000,000& 18] 22,000
O20232| HHE ZotM |l 26,620
OZ&EA QAN 8,800 » 1005 880
OZ A 110,000 » 130 14,300
OZLM RN 88,0002 * 1305 11,440
OZLHHBARE =&
200,0002 x10&+20& 40,000
203 =4l 1,350 1,500 A150
03 A=A H R S| 1,350 1,500 A150
Oz & oA = =T
1,500,000 *90% 1,350
dllgts HYHE 2E 630,011 493,751 136,260
245 =35 02l 48,258 55,789 AT,531




SA: 3D
mu: 2E - AElo] 3 BE e
e dg2te ASHE =29 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 48,258 54,789 26,531
01 At2teltl 26,275 27,914 1,639
Odgt+=ZH| 15,355
OMAYR B 242
330, 0002 x52| *90f% 1,485
O2IHEX PSE
28,5003 x 122 x00% 308
Ogzle =3 13,562
“ERSE AXWIILLE
300, 0003 *27H Ab<23|+90% 1,080
282 HOIHEU)
500, 0002 x22| *90f% 900
-2HE Al EE 300,000 *23] 600
-—SS2C/AIAE XHE g B2
1,22024+8,0007H*90% 8,784
—=SdcIAIAE =g 3 FY
1102 *15,0007H+90% 1,485
-EHD 2E)| el2(nHS)
66,0002 x 1274 x90% 713
O&g u=hl 3,000
OHALSEA 2UF
15,0003 100E <22/ 3,000
oA 2E 7,920
OHaoRARE /A B4
100,000 x 10 #4353 4,000
OAS2RRE 213 MBEAAE
50,0003 132 *43] 2,600
OASdeE BT &+ A2E A4 7O
11,0003 x30=+43] 1,320
2 35244l 21,983 26,875 4,892
ORFID 2322l AAY |2+
21,983,000& 21,983
SEAY 2 541,793 302,792 239,001
201 er23y| 184,793 193,292 N\8B,499
01 AtR2t2|HI 4,536 5,640 A1,104
Odgt+=h| 4,536
OnsE=z Sd= 400,000 *12CH*90% 4,320
OZ3EXte ClIEA 60,0002 *4CH*90% 216
2 35234l 180,257 187,652 AT,3%5
08E2= € MA 180,257
OESi 2= 30,940
-SEXt 640,000 »28CH 17,920
-Sext 730,000 ~6CH 4,380
RSN} 640,000 «6TH 3,840
-AIEERs SH=S
400,000 12& 4,800




A SH D
. ZF - A2 3

o
u

Ay =g
el dlelgtsE HASNE 29 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O Bs= 150
RPN} 150,000 1CH 150
OXS A 6,444
-S8Xt 210,000 »28CH 5,880
-SExt 67,0002 +6CH 402
—S=Xt 27,0002 +6H 162
OXESA BAt= 1,603
-SEXHFIIBAH 26,5002 +6H 159
-SEXHSEEA 56,0002 «9CH 504
~SEHSEZAN 56,0008+ 11CH 616
-SIEXHSEEAH 54,0002 +6CH 324
Ooflges =tz 30,0003 x 122 360
Oxtg et (HadEtl, |RFH 8) 140,760
-3 xt 2,800,000 *6LH*90% 15,120
aPIb; 1,650,000 * 12CH*90% 17,820
-S8Xt 4,900,000 *10CH*90% 44,100
-SEA 7,500,000 *6CH*90% 40,500
RCIE=SN} 4,300,000 *6LH*90% 23,220
405 AHaHE = 357,000 109,500 247,500
01 TR ESFSHI 367,000 109,500 247,500
OSEX(UHMFS) 357,000
OUESERH(KLIBA)
260,000,0002 *1CH 260,000
OSESE(I2H) 97,000,000 »1CH 97,000
Het2td =28 012 39,960 36,120 3,840
201 Ler23 | 39,960 36,120 3,840
01 At2telt] 31,200 27,600 3,600
OXZHE YFZZY 0182
2,600,000& ~12& 31,200
02 S3=gl 8,760 8,520 240
OXt2tel T2 |2
730,000 * 122 8,760
STMAS] MAE 2 2,169,626 2,097,900 71,726
SRME 22| 2E 2,169,626 2,056,900 112,726
201 =3 2,129,626 2,026,900 102,726
01 AtR2t2lt] 45,080 46,900 1,820
O3=Mat2e| g2 45,080
O3:Metze|HE (2 =l
20,0002 <90 %4 2| «90fk 6,480
O3 st 2l(er) sl
30,0003 202 +52] 3,000
OZd8ite2 200,000 60 K| 12,000
O=sF7 M S8
800,000 122 X 9,600




2A:

21 A4

mu: 2E - AElo] B #E e
Rl SFMAS MAHE 2l EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O2HlE dNLE ==
500,000&4 %1024 5,000
OBSMLOIS I BA4E
100,000 6 *62] 3,600
ONQIFRHE ASOHE f#242
300,000 * 122 3,600
ONDIEZHE HIION (448
150,000& * 12 1,800
02 S3=gHl 2,084,546 1,980,000 104,546
0332 € MAl 2,084,546
OMa=THI(212 L AILE)
818,011,000 818,011
OzdH4 SHSHI(YES L S2HH4)
1,266,535,000& 1,266,535
401 AIEHIX R0 40,000 30,000 10,000
01 A28l 40,000 30,000 10,000
SN S RA2+
2,000,000 203! 40,000
HoLD BEelgt A2t 1,982,238 2,239,35% A257,118
= 24,000
Al 1,958,238
HHEE AT 2t 1,772,238 2,011,35% A239,118
101 @124H| 34,865 44,016 29,151
M ORINZZENSE S 34,865 44,016 N9, 151
OFA AMEZ2] JIZHZ22XR 34,865
Oel2d| 2,361,103 x1& 123 28,334
Og&E=Itd| 636,330 x1H*23] 1,273
OS2 & 78,8002 x 1+ 11 867
O=gg JI2f8= 3,431
-=2H3 30,474,000& *4. 5% 1,372
-AYEE 30,474 ,0002 +3.545% 1,081
“AIQAYEE 1,081,0002%12.81% 139
-1ELE 30,474,000 *1.75% 534
~SHEE 30,474,000 * 1% 305
O=AzelE 960,000 x 1213 960
201 ger= 3| 1,321,423 1,434,890 113,467
01 AtR2tc|HI 210,143 286,475 AT6,332
OZEt=EH| 71,838
ogeE d=24 Y
50,0003 x202 *90% 900
O&Ag Zym20d |2l
75,0002 128 900
OBAM=EHSA EHES P&
200, 0002 42| *x90f% 720




2A:

21 A4

mo: BE AT 5N ¥Y s
chel: BRSID B2lE HARR (crol: m2)
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
O A AFIR2A AIZHIE 2L
400,000& *102] *90% 3,600
oFEArE 22 Y
220,000 *8E*123] *90% 19,008
Ost&X s 25 2
40,0003 *602+ A x123] *90% 25,920
OFAI OHUHE & oY H= Hi|
165,000 *4Z5 %3574 2~ *90% 20,790
OFAAIE 22| |EWFH|
150, 000& *4 S *2H 1,200
OFAIZZ| SRUHEs= 103,205
O&D|otM2te| Ha & HE AL
800,000 x4 A+ 12& 338,400
Oagord2te| CHEl
550,000 x20) A+ 122! 13,200
05| BA+4+E L HHAM
400,000& x2CH*12& 9,600
OSE3 FA (M)
30,0002 x26E#23| 1,560
OASBIE HA(MA)
15,000 *485E %13 7,275
OF AL 2 (30HA) 1,000,000 *123] 12,000
OHIIIZ Heldl 400,000 *2 04 A= *83| 6,400
OCCTVAIAE! H2A44=22(30HA)
400,000 x 128 4,800
OItA OHEZBAN ==F
220,000&*13] 220
OS2 =2 HA
50,000& *4H A~ 200
OMz=Zx =ZZAt 50,0003 *30H A 150
OALas3 A2 FHAHI
1,700,000& 23] 3,400
OFAI AU 2018 =3
1,500,000& x2JH A~ *x23] 6,000
O2SH=3 & 2o1HBI=H
250,000& 128 3,000
ONHA=E ol HII=A(3WA)
650, 000& *3H A 23] 3,900
OZXZZNEHHl OlAI=R S
5,000,000& *33] 15,000
OFAI HIHA| AEEA
12,000,000& *1JH A& 12,000
02 S324| 1,111,280 1,148,415 N37,135
03222 ¥ HAl %5,680
QNI 2 15,500,000 40 A% 12& 744,000
Oatol=E 22
4,200,000 x4 A% 128 201,600




S BHD
Hu: 2 - AZ(Q BH HE s

chel: BRSID B2lE HARR (crol: m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OnSRYRES
3,000,000 *4 7 A+ 13] 12,000
OFUAY ZAIIA 23
350,000& * 128 4,200
O252tAL 2teltl 300,000 * 122 3,600
(OFSPIRIFSEETE=koilu] 80,0003 =2 160
OA NS 2] 60,0002 =2 120
OAIE2 &= X 145,600
OFEArA= FAlI
20,000,000 #4JH 2 80,000
OdittI| sl 2,250,000 *40H 2 9,000
OWLrg)| ZEHA
3,000,000 *47H 2= 12,000
ON2SAEAHBH2EHAHEX]) SED|
Z2E WA 3,000,000& *23] 6,000
O&A}F CCTVS= Xl 1,500,000 #4042 6.000
O&EA =& 22l
3,000,000 *37H A:+23] 18,000
O80EEg)| 7| 120,000 +80CH 9,600
OtfefZ& ™ &Hl =Xl
2,000,000 *2JH 2= 4,000
OF AL HZ& R
1,000,000 *1CH 1,000
206 M=l 19,150 19,150
01 MZH| 19,150 19,150
OFAL 22|ES 19,150
OANld=E =2l It 7
220,000&x105+23] 4,400
O8Il 2838 7¢
220,000& *105*22 4,400
OLesoI+ +¢ 100,000 *50H 5,000
OaxgAIE MM 7
130,000& x105+22] 2,600
OagedEdl =235 7Y
110,000& #5512 550
O%d, 2=A1d Tt 7
10,0002 x105+13] 1,100
Os&J| Satzs 7
11,000 100 £+ 12] 1,100
401 AlEHIZL SO 363,800 443,800 /80,000
01 Al&HI 363,800 443,800 80,000
OFAL U 2ZAIE RXE=
3,000,000 *40H 2~ 12,000
Oz=, 2, AYAE B2+
3,000,000 *49H 2= 12,000

O&IINE RXE+
19,950,000 *4JH 2 79,800




2A:

21 A4

B 2E - AElo] 3 BE S
el B Bels HAIRR (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O 2=, NlEE 24
28,000,000 #40H 2 112,000
OASA U TEIE o 2eal &p
7,500,000 *40H A 30,000
OFAL U AR A =HSA
22,000,000 #4J 2 88,000
OMSBALE HIIQHEEZ (L)
15,000,000& »23] 30,000
405 KHoHF S| 33,000 69,500 /36,500
01 ML ESFSHI 33,000 69,500 236,500
OFU M=2a ZI| 2 33,000
OAIRE My (22IX2)
600,000 «8H 4,800
OARE MY (ARXE)
200,000& % 16H 3,200
OAMRE 2XHZ2IXE)
500,000 +8HK 4,000
OMEFE AR ARIE)
300,000 * 167K 4,800
O0IsAl NEH 200,0002*16H 3,200
OJHHIR 300,000& %154 4,500
OEtAt & 38 #¢ 850,000&*10H 8,500
BT A2 F2 HAI| WA 60,000 0 60,000
= 24,000
Al 36,000
401 AlEHIZL S0 60,000 0 60,000
s 24,000
Al 36,000
01 Al&HI 57,000 0 57,000
OFFAIZSHF22 HEI| WHA 57,000
OAl&H| 53,000,000 *1IH £ 53,000
[ 21,200
Al 31,800
O&AIE LI 4,000,000 *12] 4,000
= 1,600
Al 2,400
02 Zeltl 3,000 0 3,000
OFFAIZSHF22 HYI| WHA
3,000,000& %12 3,000
[ 1,200
Al 1,800
SAIEAL ES O SA 150,000 150,000
401 A2 HIZL R 0HbI 150,000 150,000
01 Al&HI 150,000 150,000




2A:

21 A4

M ZH - NZO A E =Y
el B Bels HAIRR (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OLNFA BE HAAL
150,000, 0002 150,000
Y 2AAHI (3 1) 251,171 335,688 NB4,517
el 176,837 237,952 261,115
SIIAHSZ 2 el 2it] 176,837 237,952 261,115
101 e124d| 176,837 237,952 261,115
03 SR (RINHA) 222+ 176,837 237,952 A61,115
OF A2 176,837
OJl=E=(ts) 114,548
20Xt 2,850,6203x 1~ 122 34,208
-8 Xt 2,384,240« 18~ 128 28,611
44Xt 2,228,640« 18~ 12& 26,744
-34 Xt 2,082,070« 18~ 12& 24,985
O=Z&5+¢ 5,730
—20E Xt 142,5303x 1+ 128 1,711
-8E Xt 19,2103 x 12+ 123 1,431
-4E Xt 11,4303 1+ 123 1,338
-34 Xt 104,100 x 12 * 122 1,250
Oo=¢ 42,620
- NS A 140,000& x4+ 123 6,720
-bEeE 100,000& x4~ 123 4,800
-gEag 100,000 x1&* 122 1,200
-HEZ2g
17,4302 #30A| 2H+4 S+ 123 25,100
-Hed=E 50,0003 x4 * 128 2,400
-Srgfsg 50,000 x4 * 122 2,400
OE &=l 2,461, 7703 x50m4 B +22] 9,848
Ogi2a= R, 90602411 4,091
Jl=23sl 74,334 97,736 N23,402
JI=23Hl 74,334 97,736 N23,402
201 fer= 3| 42,234 47,816 N5,582
01 At 2|l 42,234 47,816 25,582
OJ|=gR=+g8as FHI(OIE3Hl)
450,0002 37 16,650
o=gHI(01=2HI)
8,000 37 H+7Lx 122 24,864
O3RHZZIH(FAt2eIH) TI=H
90,0002 x25+4E 720
202 04| 26,640 44,400 17,760
01 =LHOHI 26,640 44,400 A17,760
O=UoiblI(O1=3Hl)
20,0003 37 H+3L « 12 26,640
203 HR=H] 5,460 5,520 260
M EAEER=A 5,460 5,520 260




2A:
PSER
o e

el

21 A4
Y2 ZHI(SAHIM)

SoT oo

J|I=2&

S - BE - B9I(3H) - NRAY - BES

=

Ofl &F2H

MEE
Ofl &k2h

J

=
30
O30

©

e e
=}

e
P
& o

400,000& * 12
5,0008+11&x122

@)

5,460
4,800
660




H & 0l & AHS B Ml A

od
i’
oF
uJ

o 55 B18188 e el 3|8 S| S
S S O|N| oD NN =~ S
A A1 A NJIN BY|= o]
Ko m m NI q|< J1< <
N |< <
F=)
[oN] [N NeoN Neo) < <
3 g SIZIE|S g |BIE |BIE |&5|&a|% 2
[e0] [QV) < Al | A [e)1N Ne)) OO | O [aN]
g |= e}
< | -
RIS
m%%%%%mwwm%mmwwmmmwmw 2188 2188 SlTIdIe g 8¢ 3 )
[© 2R N} N I OO~ — — ©O© ™M (@) o O (e} «© o QOO O OO |O O~~~ I~ O N — ©
m%mwwwwwmwoooosndz s -2 g =< vl|dd didld dlgly 5 9
M @© © | o ©
<
S
H=<| W=
Wm=E=aoT 858 @ m W < ol 3 o] ol Ki
[aVEEaN N ep) D [aN] Al [aN] == Al — [aNEENeN| o
yoow M X X T ) ol o @ E
43 ] Y k. ] =
- X — - o_.E x
y siE B E S fog| g & 1 I
Y 88 2z ¢ G od g g g8 (8
5 m % o op o m - N X
3 & 8 s 8 g - 5%
< g 2 g o g N
e B i 2 ol <+ )
< — = - <
. iy ™ = o #0 = il
= RO 4 S R o = A X H
= T i 80 2 = s ol M_n ~ <4 _ 10 =3 0 MH
ol s = 0 g W= Ok XWX Bl R0 i 3 o E Hl
P " w D T or L T 0 R0 w R |8 Io o
3 70 dAlg|s A MW U x x5 3 oo |slm o |Wis|s H - @
. N ol o R Ut R N A O S I i O T ARG - 0 e N
= Hlow|ay @ I m___ ﬂI o 0} oy O Kd o = Sl ™ ®F | gk LW/ ROM ™ oop RO
R o1 Ao lzfor He ¥ o He o mpd (2l (220 |[=|(2frad =5 K /o o
RY M HEIEIER e R RO O MR |da’ |K|RK A |S6z s 00m =
H —_ o o | O (@) o | O QO o | O (@)
= i AT | S 3 < I &
o |z z H | RO R0
o &) K0
i N




SN BRSAD
= 210 8=z -3 ¥
ol HEAR 4 L AlZlEs HEE0 (SHol: )
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
OSQtxIZel Z=g AR 2H0ld A
32,5203 1,310 42,602
OUPCXIZ|0] =208 A2t elold A
26,5002 +500% 13,250
BRI 2eIA A [XE=H
7425003 128 8,910
ONMAIHBRE MRS
15,000,000& x13] 15,000
OABIZ HHOIAABAI(1E 2t0ldA)
352,000 *60% 21,120
OPCZ HIOIAABAI(1E 20l A)
26,0002 1,500 39,000
O=ore|SRE (14 2toldA)
3,0002+1,560% 4,680
405 AtatsE = 79,810 79,810
01 M ESFH SHI 79,810 79,810
I |IS2ACAMAE == ZH Wil 79,810
OAH 39,905,000 »2CH 79,810
ANsELs JRFA 20,160 19,616 544
201 L2 20,160 19,616 544
01 AtR2telb] 20,160 19,616 544
OHFAl 23RS 29 1,560
OBE&2Z(0I2E)
100,000& x12F 12l 1,200
OBH+L(ZDE)
30,0002 12 *13] 360
OFFAl WA RRE 2 2,600
O45+2(0I12E8)
100,000& 4 & +52 2,000
OB&+2(Z1E) 30,0002 +42 53] 600
ORIHEIIA RS MASS
250,000 x8H +82 16,000
AEJbset 153 d2AMHlA W3 2,947,406 5,748,349 2,800,943
FENLYS Let2d 264,300 282,960 /18,660
201 L2 263,400 281,960 /18,560
01 At22te|bl 263,400 281,960 18,560
OSHY=ENI2ES A8 FZ SN 7HIGBS 1,
x) 240,000,000 240,000
OZctRE JIAPC S/W ctold A 44l 21,600
O2IE210 180,000& 120X 21,600
OReIALSI| L=AbIA QHAZ MA
20,0003 x100Z&+90% 1,800
203 gR=8| 900 1,000 A100
03 AIFAH 2= 900 1,000 A100
OEEANHIA 43t REFA
1,000,000 *90% 900




FA 32SA
M 210 8= 209 -3 78
o XBItsst 13 F2MHIA W3 (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
HHEEAAE 2F 2 RA2 1,233,765 1,280,750 N46,985
201 er23 | 1,067,482 1,112,242 N44,760
01 At2teltl 16,000 20,000 24,000
OPCE 1ellol= 100,000 *80CH 8,000
OAZEE PCLISI| & F&
200,0003 *40CH 8,000
02 s3=gHl 1,061,482 1,002,242 240,760
O MAIAE BRI H| 830,438
OFHBAIAE SERXE> SAHI(2EX)
527,843,000& 14 527,843
OgRAEEE (R2E)
13,275,000 x 122 159,300
OLSE ARt AIAE
6,250,000& «12& 75,000
OSgdg 2 AIAE
1,775,000&«12& 21,300
OuZtE £Seratc|AIAE
1,264,580« 123 15,175
OFFAHATIAIAE
750,000 * 122 9,000
OAZENH =AM 2AIAE
571,000&* 122 6,852
OUEHI IS IAIAE
528,000 * 122 6,336
OASEZHTNZNFSAIAE
533,330 * 122 6,400
OITAr 22| Al A S 800,000& 122 9,600
OdF 2| AIAE 2,084,000 12& 25,008
OZH M A A E 132,000~ 128 1,584
OB FAQIAAESHRAIAE
1,420,000& ~12& 17,040
OMsdUAFT 220015 ME=
550,000 12 550
OISz R FAEHI
12,203,010~ 128 146,437
OdIOIMZRIE RXIEHI
1,500,000& «12& 18,000
OF AR 1A AIAE
173,000 02 1,557
O&EXDX &&H| 1002%50, 00021 *90f% 4,500
308 AtXIEMSOIE 166,283 168,508 N2,225
183 SIS U B 4 HASAIE 166,283 168,508 N2,225
O38718t HAatEHl & MHoll=7 RA2el
u 128,633,000 *13] 128,633
OME MHIAHIAZ S
6,950,000 12 6,950




FA 32SA
HE: 210 @2 HDO HFE P
chel: XHItss DEA FEMHIA WS EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O=2LICtAIAE S/W K22l
30,700,000& x13] 30,700
Y M ATH EAE=N 372,000 452,710 /80,710
405 KHoHFSH| 372,000 452,710 /80,710
01 ML ESFSHI 372,000 452,710 /80,710
PRE JdAEHl WA 372,000
Ol s8aRH 1,400,000 x250CH 360,000
OZEH(MEESH) 600,0002!*15CH 9,000
OZUH 400,000 * 15CH 6,000
CHITILEZ A 3,500, 0002 2CH 7,000
5 AMEXOICINEYH 2SR (2HEFZRH) 243,200 259,400 16,200
306 E¢= 243,200 259,400 16,200
01 £g= 243,200 259,400 216,200
OS=AIEX0ICIONE 22H 263
243,200,000 243,200
KNsstsal At oipoled dHAIY(IIIATXIH) 60,000 60,000 0
308 XXM SOl 60,000 60,000
18 SIS0t oA AS A 60,000 60,000
OGrand ICTA2HIE IR AH
60,000,000& 60,000
IS0 02E FR(2IHAFXL) 250,000 2,500,000 A2,250,000
403 AXIEHHSAH=01d 250,000 2,500,000 22,250,000
02 SII2ASUU A2 A AAE A I 250,000 2,500,000 22,250,000
O&I=EdIoI a2tz =4l
250,000,000 250,000
T2 HFLEAIAHE SctRE & 25 524,141 524,141
207 ARl 240,605 240,605
02 MAHHZHI 240,605 240,605
OxXRd St Mt 2=
240,605,000 240,605
405 KHoHFSHI 283,536 283,536
01 ML ESFSHI 283,536 283,536
OxZ2d Sctet M= 283,536
ONH, AE2IXl HW 28
229,476,000 *1SET 229,476
OJtetst, o=+ SW 25
54,060,000& = 1SET 54,060
A0 ASots EHIOIK 2 449,787 1,713,568 A1,263,781
Al AHAUAAY OHEN 2Y 427,787 1,513,568 21,085,781
201 fet= 3| 426,887 451,550 24,663
01 AtR2te|HI 5,000 16,600 A11,600
O¥AIOIE SEAUS 1,000,000 565 5,000
02 S22l 421,887 434,950 A13,063




A ZESAL
M 20 M2 2Dl rEF P
oHSl: AIRIDE ASEHE EHOIX 29 (crel: g)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
OCIgY Znelatel sl
42,0002 +205 840
OMMNIA(FRUE) oI5 MEBZ(AHE)
3,000,000&*1& 3,000
OCHANIA(MEAEA HH) 2IE AIEZ
1,100,000&*1& 1,100
OQIZtot01 2l ZoI0IE AtEZ
550,000&*15 550
OSSL AMtEZ 250,000&*15 250
OZXUHAIXIAEIA Ol
200,0002 x50 2+ 123 12,000
OAl EHO0IX & |XIE==H| 189,336
OUE EHOIX S 145
5,460,000 12& 65,520
OAtd A EH0IX S 178
4,545 0002 128 54,540
OmYel EHO0IX & 205
5,493,000& 123 65,916
OZHO0IX ZM 24
280,000 123 3,360
ONQIAE EUE HEES S| Lot
2,750,000 82 22,000
OQIHUEBAIAE SERXNES E2AHI(2
=DN)) 192,811,000& 14 192,811
301 LPENSZ 900 900
14 J|EI2 A3 900 900
OZHIOIXl ARIENH Al&3
30,000 *30H 900
HICHH 22401 MEE ST JIs L3t 22,000 0 22,000
207 AR 22,000 0 22,000
02 AP EY| 22,000 0 22,000
OHIH 2etel MEE s ZUS JIs L3t
22,000,000& 22,000
HE=A HESH AHIA 3F H3 4,293,830 5,442,724 A1,148,8%4
& 1,575
Al 4,292,255
S SAAIAE OHEAE 2 4,288,580 2,837,924 1,450,656
201 et | 2,850,175 2,545,834 304,341
01 AtR2telt] 33,843 36,370 N2,527
O¥HM3} ST HMEHI 11,700
OJHelE HROHHE
2,2003 %2, 0000122 *90% 7,920
OSHY #EaEsMsS
7002 «3,0000H 23] *90% 3,780
OSHHEZE RANE+E ARE P2 13,500
OUTP AH0l= 100, 0003 *50t A *90% 4,500




SN HESAD
M 210 M= 2700 EF
ool S FESY AHIA 2F S (SH &)
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
O=2& 100, 000 *30EF A *x9(% 2,700
OdlBE4ZE) 100, 0002 *30CH*90% 2,700
OdlE(8RE) 200,000 *20CH*90% 3,600
OMAEXZ, FAX A2ER2H| 7,443
OEHIIELIX 230, 000 *5IH*90% 1,035
OZ22H ItECIX 300, 0002 * 102H*90% 2,700
O==2H Xl 140,000& 8= *90% 1,008
OXGSE3D| 30, 000& *1007H *90% 2,700
onE2esERE= =2
24,000 *500H 2~ 1,200
02 S32ZH| 2,816,332 2,509,464 306,868
OHBE Al HotAAE SXIE4H|
13,579,385 12& 162,953
OB EA HEKIAAE SXIE4H|
23,578,335 x 128 282,941
OIPHZI W EAIAE RX|E2=H|
6,767,3513x12& 81,209
OFAI S3S2A0/TIH0| FXIEH|
11,071,867& +12& 132,863
OHAMFOAIAE S| E2=H|
1,147,000& x 128 13,764
ORYFNNIAZBZIHX RAL4H|
304,2503 128 3,651
og2ets)| KAE2H]
456,800 x 128 5,482
ONIISESAIAE X2 2H|
861,000& ~12& 10,332
OHA SXIE=| 48,0002 x72CH 3,456
OREE=HEXIAIAE X244
352,000+ 12& 4. 224
OHFAISAIAE SXRAH]
2,533,333& 128 30,400
O2H0ISUSAIAE S 24|
200,000 #4674 2~ 93,400
OHIHH AT AIAE
20,0002 *100 = 128 24,000
OB SAAE =R A2
1,500,000& 53] 7,500
(OFSkI3er=; 594,402
OQIE Y HAEX G} 17,000,000 x 12& 204,000
OLerEst 25,0002 %1203 44« 122 36,000
Oolgul 35,000& *1403| &« 12& 58,800
O&IE AN
6,000 553 & *12& 3,960
OMHTHNE /L8NS
55,000& *173| &1+ 12& 11,220




A HEEAY
™: 210 M2 F DO t-HFE P
o2 S FESH MHHIA 2 E HSB (SH &)
SN - B S(BH) - HBAY - BAS ol by e HIRS2
O2XAHIA E8t22] AIRE
12,000,002 * 122 144,000
OFA 2ZLH0IT0| AFE2
3,300,0002! 122 39,600
ONISEEAAH 2H5|M AIRE
5,5002 *4675| &1 122 30,822
Ogersr 22X MHIA sld D22
11,0002 *1,0005] 4 +62 66,000
oXEIIM AR 1,365,755
O=2UH 3| 108,000
-H3513 30,0002 *3003] &1+ 122 108,000
OZINHBEAMHIA 1,200,024
~400M 2,825,000 %63 1122 203,400
~100M 1,582,002 *83| &1 102 151,872
~40M 1,204,00024x353] &1+ 122 505,680
-0 417, 0002 *423] {1 % 122 210,168
-2 62,0002 *415] % 12 128,904
O=7t eI (BIE)
1,016,950 %33 &1+ 122 36,611
O2HIY ™ F 5
2, 2002 +8003] &1 122 21,120
401 AIZHIZL 2 THY] 40,000 40,000
01 Al&HI 40,000 40,000
OAFRA! THHHXIO M2 PUISAEZBAK
23 AA) 5,000, 00021 x8IH A 40,000
405 RHAHE S| 1,398,405 252,090 1,146,315
01 ML SZH S| 1,398,405 252,090 1,146,315
0O-% MBEARY Wil 1,309,105
OB URIHAIAE 84,455, 100& =2CH 168,911
ORGH2AIARIX] 79,886,400 2! *4CH 319,546
O ALIT| 25,695, 2002 * 1501 385,428
OYATEARIRI(24P)
3,860, 0002 *75LH 289,500
OKATEARIXI(48P)
7.,286,00024x20CH 145,720
OEA 3| (IPT) 660,000 *30CH 19,800
CEESIb 300, 0002 *5LH 1,500
OL-% WEI| AIAE A
34,000,000 2! *2LH 68,000
SEXY BHASALALY 5,250 4,800 450
[= 1,575
Al 3,675
402 RIZEXH=0| & 5,250 4,800 450
= 1,575
Al 3,675




FA 32SA
M 20 M2 2Dl rEF P
el IS FESA MBIL BE Hs (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
03 2IZHRAETAIHHI 5,250 4,800 450
SEXNY Z2UHASLUTAIY
5,250,000& 5,250
= 1,575
Al 3,675
SR AHIA DMOEE A 453,516 601,979 148,463
== 28,860
Al 424,656
2SN UEYR FA 3,400 3,500 A100
201 =3 3,400 3,500 A100
01 At22t2ltl 1,600 1,500 100
OAFBTA SHEH DF44E
1,600,000 1% 1,600
2 ZZ2H| 1,800 2,000 A200
OAFBEAA SZIHI ||
1,800,000& 1,800
mcolgt 32 elZet Xy 246,134 396,862 150,728
201 et 3| 196, 134 178,716 17,418
02 S3=gHl 196,134 178,716 17,418
OZ32H0IIt0l RAIE4=H]
200,000& *210H 2 4,200
O=Z20/LI0l 2MAIAE [ A2l
885,000 ~6& 5,310
OZZ20/It0] EAIEZ 186,624
O3F&E 20(W0l
33,0003 x3642| & x 123 144,144
OXH SE2H0[1H0]
33,0002 x50 &+ 12 19,800
OLQI=X(Z2E) 2010
24,0002 1052 &+93 22,680
401 AIEHIZ SR THYI 50,000 218,146 168,146
01 Al&HI 50,000 216,940 166,940
OXHl SS2A0IT0l =t 7=
10,000,000 *50H 2 50,000
HA SS20lIH0l &t RS AHY 96,199 107,525 A11,326
= 28,860
Al 67,339
201 er2 3| 96,199 107,525 11,326
= 28,860
Al 67,339
02 S3=gHl 96,19 107,525 A11,326
OHA S32A0I0| LIt 2EAG(EX) 96,19
OHA Z3201IH0] S3R=(41404)
96,199,000 96,19
& 28,860




FA 32SA
M 210 M= 20O EF
l: SRR AHlA DWDEE AE (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Al 67,339
HA SZA0ITH0| ST FEAL (KHA) 48,531 33,540 14,991
201 et 3| 48,531 33,540 14,991
02 S3=gHl 48,531 33,540 14,991
OHlA ZSSA0IH0| SXt 2EAL (XHH 65
CH) 37,4003 +652] &+ 123 29,172
OHlA SSA0IT0l SSLS (Al RHA A<t
37CH) 43,6002 +372] &4+ 122 19,359
POHIMEI(EE) HHYR &3 59,252 60,552 1,300
201 fer= 3| 59,252 60,552 21,300
01 AtR2te|HI 7,500 8,000 A500
otz A2Z7(HHHel S)
2,500,000 *1HK 2,500
OSEESZEZ)|2D
2,500,000 x2H 5,000
2 s5=34l 51,752 52,552 A800
OEEE HY=EE 800,000 +4CH 3,200
OS2I HAXIAAIAE FX2el 48,552
OSE82HY BITHAAY SM
2,900,000& ~12& 34,800
OcEgsga HEXZAIAE HW
650,000 * 12 7,800
OEE2ZHl |FXNEHI(E240, =23t
ot 38, HIPC2E) 496,000 123 5,952
HY2EGH(FESAD) 38,598 55,992 A17,3%4
Jl=3H| 38,598 55,992 A17,3%
Jl=23H] 38,598 55,992 A17,3%
201 er2 3| 21,318 24,092 N2,T74
01 At2teltl 21,318 24,092 N2, 774
OJl=gR=+gasZHI(II1E3HI)
450,000 19 8,550
ozgt(01=23dl)
8,000« 19 72 * 122 12,768
202 04l 13,680 22,800 29,120
01 SLHoIH 13,680 22,800 N9,120
O=UobI(O1=Z2HI)
20,0003 x19Z+32 x 12 13,680
203 HR=4Y] 3,600 3,600
MU FAZSLIFAI 3,600 3,600
©J1EZHI(202! 015t) 300,000 * 122 3,600




